3.1

3.2

3.3

3.4

GB 1236
GB 1449
GB 2406
GB 2576
GB 2577
GB 2614

GB 8070
GB 9068
GB 10223
GB 10891
GB 12218

100Pa

GB/T14294-1993

Pa



3.5

3.6

3.7

3.8

3.9

4.1

4.2

41.1

2 o o p

41.2

2 o o p

4.1.3

® a0 T p

421

20

kW

kW

20

101.3kPa 1.2kg/m?




mh 2000 3000 4000 5000 6000 7000 8000 9000 || 10000 | 15000 | 20000
25 30 40 50 60 80 100 120 140 160
mh | 25000 | 30000 | 40000 | 50000 | 60000 | 80000 |100000 |120000 |140000 ‘160000 |
422
a. 17KJ/kg 34kJ/kg
b. 20 15
43
=0 0-0 00
R S
i E
Wi 8
[0 )
Lok
HeATHERS
LWDH 2
JBFQ
TXBIQ
ZKL5-BX

5 000m*/h



ZKW 10-JT

ZKW20-JBX

51

511

512

513

o @

o

514

515

5.2

521

522

523

53

10 000m*h

20 000m®h

4.2

2.5m/s

0.68m>*W/K



5.3.1

b.
5.3.2
15 +0.02MPa 3min
b. 1.2 +0.02MPa 1min
5.3.3
4 95 88
5.3.4 4 10
5.3.5
700Pa 3
000Pa 1000 2 1000
1
5.3.6 93
5.3.7
245kPa 80
5.3.8 4><10-4kg/kg
5.3.9 3
3
Hpm =5 =1 =1 =0.5
| E |20$E 80 |20$E 70 ‘7OSE 99 |95$E 99.9
| Pa |550 |s80 ‘5100 |5120
5.3.10 6.3.10
5.3.11 4
5.3.12
2 000~5 000m*/h 65dB A




5.4

6.1

6.2

5.3.13

5.3.14

5.3.15

54.1

5.4.2

2 o o p

5.4.3

6.1.1

6.1.2

6.2.1

6.2.2

6.2.3

6 000~10 000m®h
15 000~25 000m°h
30 000~60 000m*/h
80 000~160 000m*/h

800r/min 4mm/s
800r/min 3mm/s
6.3.14 80
GB 10891
45 ~b55
80
147MPa
30
4
5
6

70dB A
80dB A
85dB(A)

90dB(A)

90
196MPa



Pa kPa
P = HEN
2_ 27 19.5 7 5 e
3_ 35 28 7 5 LT
4_ 27 19.5 7 5 L] =245
] s b e b
5 L
15 - - - - 70
B 7 - 60/90 B
6 =
7 - - - - 70
a e P
8_ 27 24 7 5 L
9_ 5~40 - - - T -
60 20
w=Im/s
+ 03 + 05
+0.2 + 03
+ 0.1 + 02
+ 05 + 05
% +1 + 2
kPa +5 +5
Pa +17 + 17




% + 2 +2
Pa +5 + 125
% +1 + 2
6.3
6.3.1
a. 5min
b.
C.
6.3.2
5.3.2
6.3.3
A 60
000m3h 80 000m*/h B
6.3.4
A
6.3.5
C
6
0.1
0.3
Pa 1
U kPa | 0.133
2
2
0.1




Al

GB2624

| |GBQO70

m/s 0.25

0.5

1

GB9068

1

| ks

25Pa

6.3.6

a. 4 D

b. GB10223

6.3.7 D

6.3.8 D D228

6.3.9 GB12218

6.3.10

22.8~26.2 7 6h

6.3.11

4 4h

6.3.12
GB9068

6.3.13

6.3.14




a. 200mm B B1
b. 20
6.3.15 GB10891
6.4
6.5
6.5.1 GB2577
6.5.2 GB2576
6.5.3 GB1449
6.5.4 GB2406
7
1
7.1.1
7.1.2
7
1 52.1~514 6.4
|2 | 5.15
3 5.3.15 6.3.15
4 531 631
5 532 6.3.2
|6 | 533 633
7 534 634
8 535 6.35
9 536 636
|10 | 537 637
1 538 638
12 539 6.3.9
13 53.10 6.3.10




14 5311 6.3.11
15 53.12 6.3.12
|16 5.3.13 6.3.13
17 53.14 63.14
18 a.
6.5.2
| 6.5.3
6.5.4i
18
7.2
7.2.1
7.2.2 7 1 2 3 4 5 20
20
7.2.3 7 18 d.
7.3
7.3.1
a.
b.
C.
d.
e.
f.
7.3.2 7
7.3.3
8
100 =100




7.3.4

8.1

8.11

g

O T O «

o)

8.1.2

8.2

8.2.1

8.2.2

8.2.3

8.2.4

G 9 S T U o
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8.2.5

8.3



8.3.1

8.3.2
8.3.3
A
A
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GB1236 31 33 34 35
400mm



Al.3

Al5

A2

A2.1

A2.2

A3

A3.1

A3.11
A3.1.2

A3.2

A3.2.1

A3.2.2

A3.3
A3.3.1

A3 A4

15m/s  35m/s
GB10223 A

A5

. HARFRERIANEE, RUWMEHFH

1 .

r =

£aMy
- I — | FuROumR.

Ll

1 — f

"

B A5 % HM OHLE
6.2

A3.2 A3.7

90=

1~3mm

Al A6



A3.3.2

Pd-
Pd1 Pd2

n-

A3.3.3

P2-

A2-

Pt-

A3.4

A3.4.1
A3.4.2

niL

X—x
B EREENENNLASRE

Py [V Pat+/Pas -+ P’

n

(Al
Pa
Pdn-n Pa Pa
o L)
2 (3 6004, (A2)
P,+B
P2 = 287T
kg/m®
m3/h
m2
Pa
Pa
K
GB1236 4.6.1
L=36004,,/ % (A3)
2



A3.4.3

24P
Li=3600CA,,[~—  (A4)
22
:Li- m®/h
Ci- A2 125mm Ci=0.99
Ai- m?
Pi- Pa
A3.4.4 LO
LO=Lp2/1.2(A5)
A3.5
A3.6
A3.7
30s
A3.8
A4
a Pa m®/h
b.
Al

D (300 400 500 600 700 800 1000 |1200 [1400 1600 1800 2000 |2400 {2800 {3800

47 67 79 95 110 126 158 190 221 252 284 316 380 442 500

A

1
r2 |82 |110 |137 ‘164 |192 |219 |274 ‘329 ‘384 |438 |493 |548 ‘656 |766 |876

F;_1106 |141 |177 ‘212 |247 |283 |354 ‘424 ‘495 |565 |635 |707 ‘850 |990 |1130

F;_1124 |198 |210 ‘250 ‘293 |335 |420 ‘501 ‘585 ‘670 |754 |837 ‘1005 ‘1170 ‘1340




’;|142 ’190 ’238 ‘285 ‘332

|380 ’474 ‘567 ‘664 ‘756 |854 ’949 ‘ 1140 ‘1320 ‘1520

| 10 20

A2 C
Re |14720 |15491 |16314 |17195 ‘18137 |19148
|C |0.950 |0.951 |0.952 |O.953 ‘0.954 |O.955
Re 20234 21402 22661 24021 25492 27086
C 0.956 0.957 0.958 0.959 0.960 0.961
Re |28817 |30701 |32758 |38006 ‘37472 |40184
|C |0.962 |0.963 |0.964 |O.965 ‘0.966 |O.967
Re 43174 46482 50153 54242 58815 63948
C 0.968 0.969 0.970 0.971 0.972 0.973
Re |69736 |76295 |83765 |92320 ‘102180 |113620
|C |0.974 |0.975 |0.976 |O.977 ‘0.978 |O.979
Re 126992 142743 161500 184032 211428 245182
C 0.980 0.981 0.982 0.983 0.984 0.985
Re |287409 |341172 |411057 |504164 ‘631966 |813986
|C |0.986 |0.987 |0.988 |O.989 ‘0.990 |O.991
Re 1085643 1516727 2260760 3712194
C 0.992 0.993 0.994 0.995

B
Bl

Bl.1

B1.2 +

B1.3

Bl.4

B1.5 6.2




B2

B2.1
B2.1.1

B2.1.2 B1
a. 15 25
2m 30 6 5
b. 15 30
5
C. 1.2m
200~250mm

T g =
o
=1 =
X o
00741 || e
0.2881, =
0.5L =1=
0.712L
0.8926L
L
e E

Be EERAESAHOGE

Bl



‘ | |Xi/L yirH

|1 |0.074
2 0.288
5 3 0.500
|4 |0.712
|5 |0.926
1 0.061
2 0.235
|3 |0.437
6
|4 |0.563
5 0.765
6 0.939
|l |0.053
|2 |0.203
3 0.366
7 4 0.500
|5 |0.634
|6 |0.797
|7 |0.947
B2.1.2 B2 B2

L.4ar

1.7r —
1.9r

r

-
EHe HERAF={1HFHAMIFE



B2

=200 200~400 400~700 =700
3 4 5 5~6
r

1 0.1 0.1 0.05 0.05
2 0.3 0.2 0.20 0.15
3 0.6 0.4 0.30 0.25
4 14 0.7 0.50 0.35
5 17 13 0.70 0.50
6 1.9 16 1.30 0.70
7 1.8 1.50 1.30
8 1.9 170 1.50
9 1.80 1.65
10 1.95 175
1 1.85
12 1.95

B2.1.4

10Pa

B2.2

B2.2.1

B2.2.2

B2.2.3

B2.3

V=( V1+V2+...+Vn)/n(B1)

m/s
Vn-




Pt

Pt=Pt2-Ptl1 B2

‘P2 Pt1-

B2.4

C1

100mm

Cc2
6.2

C3

e=Alo/Lo*100% (C1)

A10-
LO-

D1

C1

100mm

Pa

6.5m/s
Cl b

700Pa

1 000P



D11

D1.1.1

0.5

D1.1.2

D1.2
6.2

D1.3
D1.3.1

15min

10min

Al3

GB10223

GB10223

GB10223
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D1.5

D15.1

ZAPR
=3600C A
Li T ""1'i P (D‘l)
Li m?h-
Ci A
Pi- Pa
pi kg/m?
P(1+4d,)

P = 61T (0.662 + ) (D2)



Pi- Pa

Ti- K

di- [kg/kg ]

b.

—
. . {28 AP,
].ﬂ :.% Hmt.l."l.l _,\:I _|_-__2_ I:'n?,_:l

LO- m*h

D1.5.2

_ Lpi : )
O =3%00(1+ d) [(L -L)-C.ad+t, ] +N,
{D4)
Qa- kW
11- [kd/kg ]
12- [kd/kg ]
Cpw- [kJ/kg.K]
d- [kd/kg ]
t2s-
Nf-
D1.5.3
___ Lp
Q = 360001 .|.,d._:|cﬂl:ti -t,) (D5)

t1-
t2-
Cpa- kd/ kgK 1]

D1.5.4

W=m/Z (D6)

W=pmV/Z (D7)



Qw-
twi-
twi-

D1.5.6

D1.5.7

Qz-
Iv1-
lv2-

D1.5.8

QJ-

D1.5.9

D2

D2.1

D2

D2.1.1

D2.1.2

kgls
kg

kg/m®

Qw=WCpw tw2-twl D8

kW

Qw=WCpw(twl-tw2) (D9)

Qz=W(Lv1-Lv2) (D10)
kW

kJ/kg
kJ/kg

Q=(Qa+Qj)/2 (D11)

kw
Qw Qz kw

-10%<=(Qa-Qj)/Q*100%<=+10% (D12)

D1



D2.2
D2.2.1
D2.2.2

10min
D2.2.3

Qa-
112

Qw-

tw2-

t1-

W1-
twl-

dl d2-

6.2

D13

%=yt Tyt (h

= 1,) = CppAdty, ]
{D13)
kW
[ kikg ]
D14 D15 D16
D14

Qw=W2Cpa tw2-t1
Wltwl-W2tw2 Cpw D15
W2=W1+[Lipi/3600W1(1+di)(d1-d2)]

Qu=

kW

kg/s

(ka/kg(

)]

A — |

AL

Fi

Wt

M D3 mikEkiikilEER

Q=(Qa+Qw)/2 (D17)

15min




d.
-10%<=(Qa+Qw)/Q*100%<=+10% (D18)
D2.2.4
L. p,
— i _ Dl
Y. = 3500w, (13 0y &~ ) (D19)
Wa- kg/h
D2.2.5
3 600W, (1 + d,.)
= T (D20)
-+ [@;
-
D2.2.6
D2.2.7
b, —ta
=1~ (D21
Tll t = tll )
n-
1 t2-
D2.2.8
Wg=d3-d2 D22
Wg- [karkg( )]

d3- [ka/kg( )

D22



El

El1l
El1.11

E1.1.2

E1.2

E1.3
E13.1

E1.3.2

E1.3.3
2.5

E1.3.4

E1.35

El.4

E2

5min

GB10223

23~30
13~27
-10~15

0.7
7~12
50~130

0.6~1.8m/s
j1=0.5~1.2
14~700kPa
5kPa

6.2

15min
20min

3kPa



10min

E2.1
B
E2.2
E2.2.1 200mm
6~9
E2.2.2
GB10223 E2.2.1
E2.2.3
E2.3
E2.3.1
E2.3.2
E2.3.3
E3
E3.1
Qw=WCpw tw2-twl El
E3.2
Qw=WCpw twl-tw2 E2
E3.3
Qw=W(lvl-Ilv2) (E3)
E3.4
Qw=W2 tw2-tL (E4)
E3.5 GB10223 -15

(QW-Q)/Q*100%>=-15%

Qw- kw
W- kg/s



Cpw- [kJ/(kg.k)]

twl tw2-

vl Iv2- kJ/kg
W2- kg/s

tL-

Q- KW



